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• p.35, in the second equation: · · · Iµlνl(x1,2) 7→ · · · Iµlνl(x12)

• p.47, the last of the first paragraph: D/2− 1 ≤ ∆ ≤ 7→ 2(D/2− 1) ≤ ∆ ≤
• p.59, in the sentence soon below the first equation: gµν = (−1, 1) 7→ gµν =

ηµν = (−1, 1)

• p.148, in the penultimate group of equations: Vβ 7→ Vβ

• p.220, two expressions in the middle sentence: γ̄EH = µd(logZEH)dµ, γ̄Λ =
µd(logZΛ)dµ 7→ γ̄EH = µd(logZEH)/dµ, γ̄Λ = µd(logZΛ)/dµ

• p.228, in the last paragraph: V loop = Ā[7−2 log 4π 7→ V loop = Ā[4σ+7−2 log 4π

• p.245, in eq.(12-8): −3H2
DH

2 + ρ 7→ −3H2
DH

2 + 8π2

bc
ρ

• p.264 in the first equation: Dα = Dα + · · · 7→ Dα = Dα + · · ·
• p.291a, in the penultimate equation: = 2∆ij,kl 7→ = 8∆ij,kl

• p,291b, in the sentence below the penultimate equation: hTT = tH/
√
2 7→

hTT = tH/
√
8

• p.291c, in the last equation: − t2i
32π2 7→ − t2i

128π2

• p.292, in the first equation:
t2i

16π2 7→ t2i
64π2

• p.294, in the seventh line from the top: ti/4π 7→ ti/8π

• p.303, in the second formula group from the top:
√
g 7→

√
−g

• p.309, in the first equation: ∇µVa = ∂µ + ω b
µa Vb 7→ ∇µVa = ∂µVa + ω b

µa Vb

• p.310, in the middle sentence: ∇µγ
ν = γa∇µe

ν
a = 0 7→ ∇µγ

ν = γν∇µ

• p.327, in the the third equation:
∑

M
YJM (x̂)YJM (x̂′) 7→

∑
M

YJM (x̂)Y ∗
JM (x̂′)

• p.343, addendum to the definition of Wigner D function: 〈J,m|e−iαJ3e−iβJ2e−iγJ3 |J ′,m′〉 =
δJJ′DJ

m,m′(α, β, γ), where [Ja, Jb] = iϵabcJc

• p.367, in the last term of the third equation: ∂ηh
TT
ij ninj 7→ 1

2
∂ηh

TT
ij ninj

• p.368, in Eq.(E-4): ∂ηh
TT
ij (η,x(η))ninj 7→ 1

2
∂ηh

TT
ij (η,x(η))ninj

• p.373, in Eq.(E-12): 〈∂ηh
TT
ij · · ·〉 7→ 1

4
〈∂ηh

TT
ij · · ·〉

• p.374a, in Eq.(E-13): 〈hTT
ij · · ·〉 7→ 1

4
〈hTT

ij · · ·〉
• p.374b, three expressions in the footnote 3: = 4〈hTT(η,k) · · ·〉, hTT

11 = −hTT
22 =

h+, hTT
12 = hTT

21 = h× 7→ = 16〈hTT(η,k) · · ·〉, hTT
11 = −hTT

22 = 2h+, hTT
12 =

hTT
21 = 2h×

[Note: errors of p.291abc, p.292, p.294, p367, p.368, p.373, p.374ab are from the
normalization error in p.367]
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Figure E-2 in p.373, replaced with more clear one:

Figure E-3 in p.377, replaced with more clear one:
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